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elif) = @sm( 200650 ], g2t = Esin( GO0 ], e3(8) = Esin( 1000 [F]
T 3T ST

NN 1AWN
;DTN 'WONN TNR 7D NIRNP (R
;Z N1dY2 NNOSNNN NnITAn P90nn (2
12 7y |"¥7 W' .Z D2dYN 9 7Y 7apnnn nnnn NIR DX 2ANPa 1ovo (2
JINRDN 7Y AITANN AT DX |21 NNAN NI 7W 072710 0'DWN IR VILIoN

4 Tnn 3Ty 14 pasb aonson avHan



L N\_’_ 4_‘ WA 'OI' NIND j | mina D-‘Ip

14 779% D'"7'a7n - NI'S1I0 NIAIYN

£, = 23.873[Hz]
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£, = 20,943 meec], i, = 41887 [msec].f; = 62,531 [msec]
Uav =751
Ulrams =14.577[17]
Fop (v = 560 W] 2
Laplav) =10
47746 [Hz ]
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49 32100, 4.411[ 4]
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